QUIZ September 18, 2013

Clicker Instructions: A = True; B = False;
C =1 don’t know; D = No truth value
correct = 1pt; don’t know = Opt; wrong = -1pt

1. Suppose the chemicals C3 Hg and Os combine to
form COy and H50 in an equation of the form

(1)CHy + (22)Og — (23)COq + (x4) H,O

To solve for the correct values of the z;, we must
solve the system
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2. Suppose an economy has two sectors, Bread
and Circuses, and we wish to find their output
prices, pgp and po. Suppose that Bread sells all
its output to Circuses, and Circuses sells half

its output to itself and half to Bread. Then we
must solve the system
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. A small change in the coefficients of a linear sys-

tem can lead to a large change in the solutions
of the system.



